

算式 H29 午前

① [B]

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt$$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} t^{-\frac{1}{2}} e^{-t} dt$$

$$t = x^2 \quad t \rightarrow 0 \rightarrow \infty$$

$$dt = 2x dx$$

$$x \rightarrow 0 \rightarrow \infty$$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} x^{-1} e^{-x^2} \cdot 2x dx$$

$$= \int_0^{\infty} 2e^{-x^2} dx$$

$$= 2\sqrt{\pi} \times \frac{1}{2}$$

$$= \sqrt{\pi}$$

$$\int_0^{\infty} e^{-x^2} dx = \frac{1}{2}\sqrt{\pi}$$

$$\Gamma\left(\frac{3}{2}\right) = \frac{1}{2}\Gamma\left(\frac{1}{2}\right) = \frac{1}{2}\sqrt{\pi}$$

自中

(3)

$$\Gamma(n+1) = \int_0^{\infty} e^{-t} t^n dt = \int_0^{\infty} (-e^{-t})' t^n dt = \left[-e^{-t} t^n \right]_0^{\infty} - \int_0^{\infty} -e^{-t} n t^{n-1} dt$$

$$= n \int_0^{\infty} e^{-t} t^{n-1} dt$$

$$= n \Gamma(n)$$

$$= n(n-1) \Gamma(n-1)$$

$$= n(n-1)(n-2) \dots \Gamma(1)$$

$$= n!$$

$$\Gamma(n) = (n-1)!$$

$$\Gamma\left(n + \frac{1}{2}\right) = \left(n - \frac{1}{2}\right) \left(n - \frac{3}{2}\right) \dots \frac{3}{2} \cdot \frac{1}{2} \Gamma\left(\frac{1}{2}\right)$$

$$= (2n-1)(2n-3) \dots 3 \cdot 1 \cdot \sqrt{\pi} \cdot 2^{-n} \sqrt{\pi}$$

項の数は

$$5, 4, 3, 2, 1 \rightarrow 5 - 1 + 1 = 5 \text{ の項に}$$

$$n - \frac{1}{2} - \frac{1}{2} + 1 = n \text{ 項}$$

$$= (2n-1)!! \cdot 2^{-n} \sqrt{\pi}$$

$$\frac{2n(2n-1)(2n-2)\dots 2 \cdot 1}{2n \cdot (2n-2) \cdot \dots \cdot 2} = \frac{(2n)!}{n!} 2^{-n}$$

$$\begin{aligned} \text{Ans} &= \frac{(2n)!}{n!} 2^{-n} 2^{-n} \sqrt{\pi} \neq \\ &= \frac{(2n)!}{n!} 2^{-2n} \sqrt{\pi} \end{aligned}$$

$$(4) \lim_{z \rightarrow -n} (z+n) \Gamma(z) \quad x > 0, \operatorname{Re} z < 0$$

$$\Gamma(n+1) = \Gamma(n) \times n$$

$$\Gamma(z) = \frac{1}{z} \Gamma(z+1)$$

$$\int_0^{\infty} e^{-t} t^{a+ib-1} dt$$

$$= \left[-e^{-t} t^{a+ib-1} \right]_0^{\infty} + \int_0^{\infty} e^{-t} (a+ib-1) t^{a+ib-2} dt$$

$$= \text{|||||}$$

複素積分がマゼに出来た。

$$\Gamma(z) = \frac{1}{z} \Gamma(z+1) \quad \operatorname{Re} z > -1, \operatorname{Re} z \neq 0$$

$$= \frac{1}{z(z+1)} \Gamma(z+2) \quad \operatorname{Re} z > -2, \operatorname{Re} z \neq 0$$

$$= \frac{1}{z(z+1)\dots(z+n)} \Gamma(z+n+1) \quad z > -(n+1)$$

$$z \neq 0, -1, \dots, -n$$

$$\lim_{z \rightarrow -n} (z+n) \Gamma(z) = \lim_{z \rightarrow -n} (z+n) \frac{\Gamma(z+n+1)}{z(z+1)\dots(z+n)}$$

$$= \lim_{z \rightarrow -n} \frac{\Gamma(z+n+1)}{z(z+1)\dots(z+n-1)}$$

$$= \frac{1}{-n(-n+1)\dots(-1)} \Gamma(1) = \frac{(-1)^n}{n(n-1)\dots 1} \Gamma(1) = \frac{(-1)^n}{n!}$$

$$[c] \quad \frac{\partial^2}{\partial t^2} f(r, t) = v^2 \frac{1}{r^2} \frac{\partial}{\partial r} \left\{ r^2 \frac{\partial}{\partial r} f(r, t) \right\}$$

(5) 上の一般解を求めた

$$f = \frac{1}{r} u(r, t)$$

$$r^2 \frac{\partial}{\partial r} f = r^2 \frac{\partial}{\partial r} \left(\frac{u}{r} \right) = r^2 \left(-\frac{u}{r^2} + \frac{1}{r} \frac{\partial u}{\partial r} \right)$$

$$= -u + r \frac{\partial u}{\partial r}$$

$$\frac{\partial}{\partial r} \left(-u + r \frac{\partial u}{\partial r} \right) = -\frac{\partial u}{\partial r} + \frac{\partial u}{\partial r} + r \frac{\partial^2 u}{\partial r^2}$$

$$= r \frac{\partial^2 u}{\partial r^2}$$

$$\therefore \frac{1}{r} \frac{\partial^2}{\partial t^2} u = v^2 \frac{1}{r} \frac{\partial^2 u}{\partial r^2}$$

$$\frac{\partial^2 u}{\partial t^2} = v^2 \frac{\partial^2 u}{\partial r^2}$$

$$u = a(r - vt) + b(r + vt)$$

$$f = \frac{u}{r} = \frac{1}{r} \{ a(r - vt) + b(r + vt) \} \quad \frac{d}{dt} \left(\frac{1}{r} \{ a(r - vt) + b(r + vt) \} \right)$$

$$(6) \quad f(r, t=0) = \frac{1}{r} \{ a(r) + b(r) \} = \frac{\sin kr}{r}$$

$$\left. \frac{\partial f}{\partial t} \right|_{t=0} = \frac{v}{r} \{ -a(r) + b(r) \} = 0 \iff a = b$$

$$\therefore \frac{2a}{r} = \frac{\sin kr}{r}$$

$$a = \frac{\sin kr}{2}$$

$$f(r, t) = \frac{1}{2r} \{ \sin kr (r - vt) + \sin kr (r + vt) \}$$